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g (x ) = −4x 3 + 3x 2 + 4x − 3 &A*_ �Gp � )*+ ,-�./� g ,��0�� 123.4 XZ[

g (x ) = (x − 1)q(x ) c=I_ `�}( q(x ) V80��� 1LFp cL+ 9S � g (x ) ''� U�P α = 1 cW H7 �i}o XY
g (x ) = 0 &x O=n6/� ��� ,�V�./�� AB Ea Xe

g (x ) ≤ 0 ,���1�/� O=:a t3?3u� 9S q(x ) V80��� 1LFI''� qU�R�� O80P EQR Xm
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2++ 3xx

coxx
&A*_ �G&

&v80.7 1Lw0.7 1Lw xx Ci�iaCi
%fz{�z|%fz{
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g (xx ) = () = (xx − 11)q(
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AB C4��D�� �n:�FGo (Cf ) HI�� 8 f (x ) = −x 4 + x 3 + 2x 2 − 3x + 7 &A*_ �Gp � )*+ ,-�./� f ,��0�� 123.4 XZZ[�
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f ,��0�� ,i3�7 f ′ cL+ XY
% �JK�1LMN O80P EQR 9S f ,��0�� 1LMN ��6o� TUV� Xe
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0 ,:r���� ��� ,^ig�� 0g+ (Cf ) ��}g/� T�G7 (Δ) 9�i3>/� ,�V�.7 cL+ X�
−3 @8�>� T�G/� f�P=o E7�.7 �J�- c=I_ ���� (Cf ) �iy V0+ cL+ X�

%��ig3�� AB U�D3+�� cL.� �|�o t{�3g�� U�n�� d,�U=�� 9��go d ,(�P�� ,�{8�i7 &,�a�7
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